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.m.m Wm_ﬁn_wi%m:{h}ﬂ@lﬁﬂlﬁﬁﬂﬁﬂm%mmaﬁﬂ

47.
PP CUPAE T U A Sy |9 s = = wmeR & afh e e o
: =) fom wg=h = oaw =21 9 = =21
(a) m (b) =T | g < i
© i A A A | oo A W 16F SEE A
[ Ans : (a) =igrl Fafee Fod Aies-fam-qers 4 o) o
Ilaiﬁamir.aﬂﬁmﬂé’r%mf{ﬁmm M
48. =W 2014 T A QT fretafEa o # 7 51, Which of the following words is spelt wrongly?
Trammdr =t forem 87 (a) privelege i{b) scparate
(a) = = by = R (€} truly (d) independence
(c) HEA TEa (d) wEw T Ans : (a) B 27 o Pl 0 e A @ o

| Ans : (d) T T % wd faerdl 71 @ el e
lﬁ&qmmﬁ'ﬁa&wirﬁimm
\sifta weter grEmR ® wetw fem T d 2 fEeR,
izuuaﬁ:;ﬂaﬁmﬁﬁiﬁm%mn@ﬁ:
Imgaﬁiﬂ:quﬁmmu
49, Tom geo T wIEE W B9 T WA & S

TR = % few agrEa aim mwned mr

wiFEfta = fmr av 3w gt 2w 9 e qeen

=1 =re S femm an?
(a) TR (b) A fEsed |
{c) =@pie (d) FEgERT

I PEm AR T &)

spelling privelege 1 spelling 77 4 7§ & oo =
T privilege 3 2 fomr o el oy e § g2
(3 Gl separate  —%M,  tuly-gwW #
independence- =17, Wl @ FhA e o

52. Which of the following words is not spelt
correctly?

{a) accessible

(b) permissible

{c) desirable

(d) Pronounciation

Ans : (b) SR e fReh GEFA B T TR || Ans : (@) B g8 S v § Beeq D BY T e
W TH ST H AN S W S, hﬂﬂ"!p«mmhﬁma&speumgm%hésﬂﬁ{ﬁ spelling |
#Fm @ 3% ;iqm R s A # qtf:n, __.pmnuncinlianﬁlwl'a;ﬁlémz ﬂs?ﬁméﬂ
|ﬁm1ﬁ§ :m‘ﬁ‘ﬁm:"“;:':'mﬂz g ‘Pl accessible-T8T F W desirable-TE!
T T S faed e d Pade ¥ e e [t et 0 e Wl
o 9m sremeE =0 e A P

53.  Which of the following words does not convey

1 maﬁﬁiﬁlﬁﬂi?ﬁf v ot ¥ 9R £ B the meaning of "stealthy'?
% {a) open (b) sneaky
TER T ez T B T
2 b sk i H‘lﬁHI {c) furtive (d) secretive

2

3. el % s wE (T ) 9= = T il e

s aR A 5 TER R T SR e || A © () R T R stealthy F 9 90 B @
v Far-me w SR o [||R2 g o feedl & 39 Reey A 6 R ™ o=

mhﬂnrﬁﬁ‘nﬂrﬁﬂqﬁmw:ﬁmwﬁi?Mn%mﬁmﬁ@m%hwi;

A T O SRS TiEE = oS B T ! sneaky—ToH T, Furtive U4 secretive THFIET &1
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54 Which of the following words does not convey |

4|

7 the meaning of "divulge’?
(a) expose (b) disclose

(c) conceal (d) reveal ;
.-\ns:{c)ﬁ&%ﬁﬁdiwlgeﬂﬂﬂﬁﬁm%m'
e & fEl @ AW #@ o W T R @ T
foweat § Faw fees C 7 B8 72 BF99 conceal ¥ T

#l ro afm B 9ee B T 21 expose—wERES
F, disclose- 50 3 341, reveal &2 T

55.  Which of the following words does not convey |

the meaning of "simulate'?
(a) imitate (b) generate
(c) fake (d) reproduce

Ans : (¢) Simulate 51 379 R T S § HEAT (a), |
(b), 7 (d) T S T & W Simulate 1 o4 ||

=751 T F9 €1 Fake ¥ el T 34 2 21
56. Which of the following words means roughly
the same as "glib'?
(a) halting (b)
(c) fluent (d)
Ans : (¢) BF & 7= glib 71 3 aF9EW g él;l
w1 agdy A o @ g W e
fFFe CF B ™ = fluen-9F TER F 9 355
s T =R B T 21 halting 3RS w0
eI, stumbling-ASESHI, faltering 3=
57.  Which of the following words means roughly |
the same as 'cynical’? |
(a) sceptical (b) hopeful
(c) cheerful (d) positive
Ans:{a}ﬁﬂ@!ﬁmkalﬂiaﬂmﬂﬂiﬂmﬁfﬁi'
@ & 54 g W fawedl 0 e AT RA W T
sceptical - HYHART F A 3o 3f FEm v R
T 21| hopeful-3¥EM, cheerful- 559, positive-
TR | W e A T E £
58.  which of the following words means roughly
the same as "decimate'?
(a) depreciate (b) decipher
(c) decode (d) annihilate
Ans : (d) 53 g8 9= decimate 31 314 ofemmz = &, |
el @1 A & &, 79§ w6 =i § faEe D
i 24 7 = annihilate F 3 5 3 wEEEE
wa 9 7 21 depriciate-54 &, @A, decipher—
T 91 F 95, decode—TA TH # 3|

stumbling
faltering

59. My father S

GET IT ON

Google Play

Directions : questions no. 59 to 61. Identify the
part of the sentence which contains a mistake.
one of Ihosepeople who

(A) (B) ()

doesn’t like roomman,
(D)

Ans : (d) B2 78 792 W A0 D 30 tensc F T
w5 # O 2 94 Fl subject one of those people 37
@ & A UF o SR A W subject # 7§
T AEEEA F A dont T WM WU IS T My
father is one of those people whe don't like football.
s (d) 0 A £

.

ol o long with the jewels

(A)

The main

were found missing this i

(B) c) (D)

Ans : (b) B 330 a9 AT B $ TR subject verb
agreement 1 TRl WEE T 7@ 1 FEwa: 4 31 Noun
¥ Pronoun alongwith 3 924 # @ T Noun @
Pronoun % USd M Il ¥R YA subject § AN
#A 2 3 were WM T was F TEM FMI1 The
main idol alongwith the jewels was found missing this
ﬂ'lDﬂl.ll'lg_

6l. neither the manager — his secretary ka3

1A) (B) ()
“ﬂlbkﬁ:romum:ms.

(D}
rﬁm:(ﬁﬁﬁ‘@aﬂ%mcﬁsﬂjcﬂvn‘b
ammﬁﬂﬂﬁﬁgim@}mﬂsubjwl
secrelary TF T4 Fd & A9 I9F 9= ¥AM EM AT
verb TF TFF & 2 3 ME C ¥ were § WA W

———

Direetions : questions no. 62 to 69. Choose the

option that best completes each of the following
 sentences.
'62.  Sealed tenders will be received———the

office ————
(a) in, of

{b) at, of

(c) from, by
{d) 1o, by

the Chief Engineer.
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|Ans : (a) & T3 fll in the blanks ¥ "Sealed tenders|
J: be received——the office—the C'Ilicl'i

= sineer. 78 oA dem= e Wa R S 09
im%ﬁm—ﬂﬂﬁmmmmmiﬁ}
Iﬂmmﬁurmmm&mﬁmaﬁﬁmﬁ:

63.  The serious students———— this group are the

ones who demand the most ———— the
college.

{a) in, about (b} in,in

(c) of in (d} of. from

Ans : (¢) 501 T T The serious students this |

college. ™R 90 38 To—— § = wafs wm 7 &
v e —— el R R W A E v
= ford of mar in = ¥Am & Fa freew ¢ F we |
& T #1

J

64.  The wall collapsed a crowd
— people who were buried the rubble.
{a) on, of, over (b) on, of, under
{c) in.of in (d) in. of on

Ans : (b) &4 £30 999 The wall collapsed ——a
crowd ——— people who were buried ——the
rubble. ¥R Al & wF fy F——oarF— |
T M A A W IR oA g e we m
B I on T or 5N T AW & F 7@ T v A
% 919 under 7 ¥ TU # 1 The wall collapsed on a
crowd of people who were buried under the rubble.
65.  If I were richer, 1 a better life.

(a) will live (b} had lived

(c) would live (d}) would have hived
Ans : (d) B3 359 If | were richer, | —a better life.|
afz § 3w o g A F B B oTE dEm dE
- ﬁ%ltemwﬁﬁﬂgﬁ&ﬁ!ﬁ‘ﬁaﬁi
% @ T 799 F Past Perfect 741 T 91 would |
have + verb %I [lird form &1 #1 & 3% I«
%49 If | were richer I would have lived a better life.|
=T (d).

66.  When the soldier

)|

train, he his rifle near him.
(2) lay, laid (b) lied, laid
{c) laid. lied {d) lied. lied

group are the ones who demand the musl—th:.-;'

down to rest on the

_ielm:(l) When the soldier down to rest on the
| train, he his rifle near him. ¥ % 3T 294 W
ool oo ReLnie oGl R ko ko f 8]
Lie %1 51 21 &im & 79 991 lind form lay F1 53
|9 o = W 8 A lay (verb F Ist form) 31 74
| %= @ # T9H second form of verb lid F # =
| g fimm o W s S e A F

67. 1 congratulated her
— promoting cleanliness in her school.

her success ————

{a) for, of (b} on,in

{c) for, for (d} on, on

| Ans : (b) 7220 €30 F99 | congratulated her
|her success promoting cleanliness in her
|school. f a9 & Iu+ IEH TEEA—— FH
TFE E AuE sEER o awaa-——— 3 owes
m%ﬁ*ﬁm‘ﬂ&iﬁﬂﬁonﬂm{ﬁiﬂﬂﬂm
W # W= F fod in F 9@ gm SwW faEeT B
u &1

68.  Will you please excuse me from the swimming

lesson today? 1 my back.
(a) hunt (b)  will hurt
{c) have hurt (d) had hurt

:Am:{c}m &3 = Will you please excuse me
| from the swimming lesson today? | my back.
T AT OF &9 AW 3 A S A § §—
|—m=ﬁma&ﬂﬁﬂaﬂaizqgﬁﬁim%ﬁ=lﬁ
|T9%e9 C 7 f3@ 79 = have hurt % 5T 5% 5
|Wi’|

69. His parents have money, but mot
enough to pay his full college fees.
(a) ffew (b) few
(c) little (d) a lmle
|Ans : (d) 31 231 399 His parents have
| money, but not enough to pay his full college fees. EG
|fe = W Fae AR D B2 T v a linle WA
{s@m #m F4ifE W@ positive sense S F4l 2 liule &
[ Negative sense T 81 few 71 a few ¥ ¥ 399
| countable Noun ¥ 53 EF" %I

0. "It is time we did away with some of these
outdated laws.” The expression underlined in
this sentence means.
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(a) recnacted {b) abolished

{d) enforced

2'-' 7 () modificd |

Ans : (b) B3 %2 T3 "It is time we did away with |
some of these ouidaied laws.” The expression
underlined in this sentence means. 3/ H%9 3 T #
EEl )
TR T AT s A tEa eI m
T abolished F1 & ¥4 Fel FEM AW reenacted T: |
T F modified TIET enforced T F11

Dirvciasss : Read fhe psage given Tudow s
answer the questions no. 71 to 75 :

What does a human being need? We do not know. A
hundred years ago people did not know that one of the
most important human nceds was protection against
disease-causing germs. There are probably needs as
important as this which we do not yet know, but people
will know a hundred vears hence. We can still make a
list, even if we are sure that something important might
have been left out. First on our list will be the most
urgent needs without which anvone would soon die. And
later on we shall list some of the things we need if we are
to be happy and things which will be useful {for

PR o Pl & R |

example, leaming to communicate in English effectively)
though we do not need them for life or even for health.
When | made a list, 1 soon found out that most of |

our needs are quantitative. We must not have too little of |
various things but we also must not have too much. We
need some food, but too much of even the best food
makes us sick. We need education if we are to fit into a
civilized society, but a boy who was made to read fof'
twelve hours a day might not fit in very well. Different
people have different needs according to their age, sex,
job, and so on. Finally, a lot of what we think we need is
needlessly acquired. If we have been accustomed to
something, such as chocolates, TV or smart phones, we
may get unhappy if it is laken away, but we could have
got on all right without them.
71.  What is likely to be known to people a hundred

vears from now?

(a) That an important human need is protection

against germs
{(b) That we do not know what we need
(c) That certain needs are more important than
others
(d) That all human needs are unpredictable

GET IT ON

Google Play

| Ans : (a) &1 g3 =4 What is likely 1o be known 1o
{people a hundred years ago T 399 TR BT A &
iz A & = f5 T #1 That an important human
Ineed is protection against germs. 7% passage F e
{4fF § == w9 & 552 fom T #)

72.  Which of the following does the author not talk

about in this passage?

(a) Some things we need urgently for life.

(b} Some things we do not need for life but for
happiness.

(c) A lot of things are acquired by us though we
do not really need them.

(d) Some things we need are useful to us.

| Ans : (d) 37 B30 ¥ Which ol the following does the
{author not talk about in this passage? 358 IR %
\(d) ¥ &% 79 399 Some things we need are useful 1o
us. % 31 34T & 9SS ® 51 39 49 W % 5 a6
T T

73. The author says that different people have
different needs according to their age, sex. job,
and so on. in order to
(a) show that most of our needs are needlessly

acquired.

{b) indicate that it is difficult to educate all
people so as to make them fit into a civilized
soCiety.

(¢) explain why we are sure to leave out
important things in our list of human needs.

(d) show that most of our needs are quantitative.

ﬂm:(d}ﬁmgmmmmmﬁmdum

| people have different needs according to their age, sex,
fjabﬂndsom in order 3991 W D ¥ Ry ™ w=

{show that most of our needs are quantitative & &7 78

74. What is the author's attitude towards

chocolates, cigarettes and TV?

(a) That we are very much used to these things in
life.

(b) We need these things to fit into a civilized
SOCIETY.

(¢) We feel unhappy if these things arc taken
away from us.

(d) We do not need these to get on with our life.
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Mns : (d) What is the authors attitude towards || Ans : (a) 791 %1 79 99 78 @ Al 9 A A
Adda 2"' Z“Wf'hms-tigarﬂlcsandwmWﬁm[d)wc |l ma s idmafimToeanif

‘duuutmcdl]lcsclugdunwil]lumlil'c. T = T E-fEEE F A e
75. While saying that most of our meeds are 78, o= 3 TR0 =1 97 U7 293 =7 =1 A7
quantitative, the anthor asserts that (@) T = T 2

(a) we must have a little of many things.
(b) we must have much of a few things

(b) TE FEH F= @?

{c) we must have neither too little nor too much ) # T “
of anvthing. ) F9 w5

(d) we must have either too little or too much of || Ans : (d) T 3 757 =1 =92 73 W = 3=
many things. | = S mew s 6 T S, w9 q@ s o

Ans : (c) [0 g3 ¥¥ While saying that most of our| ||y spfiapfi T 8y AW I R = 30 5 &
needs are quantitative, the author asserts that 555 W "Wazgs‘amm“ﬁmm'

f&F#7 (c) we must have neither too little nor too much 9. ‘ﬁwmgﬁmmﬁwﬁmm'ﬁm

of anything. i & 39 wa= ° == 9= ar?
-4 : =l o 0wl
(c) == (d) =TT

firdm : Frafafas moiw = wEeTEs afeg o

Ans : () T TR O 9 A W e ann’
I . 76 W 80 7k & Iv9 341 = Ew O e -

| & o5 § =i 3 9@ ffem o e % geand #
R |\ T A T i @ A ¥R = e d o oh

THn w97 v -frmd § A v ) 395 fow @ || F R @ oo =R 9 @ O @ e e

TS A IH W 9 90 4, e o e i 1w || 7 O = e 2

A, = A T, T B F T T 6 ST A g0, et A1 9 0 qEEt o a6 87

#t s wm =5 e @ o Be g A am | (@) afsr & (b) = SF

ﬁmﬁﬁmaﬁaﬂwmmwﬁmi () Tl A (d) T == A =

Efm\ﬂ:am_ﬁm'Mﬁﬁm_Mhm'fhm:tt)ﬁﬁﬁﬂﬁwﬂ‘ﬂﬁmm

T E @ W A W e T A e e o 3 e B, e W

mﬂéiﬁaﬂwiﬂ‘ﬁ-ﬂ‘ﬁW?l'ﬁmﬂﬁﬁh"m%ﬁwmmqumﬁmrig

mﬁam‘ﬁmmqﬁmmmMmr;m.mwwﬂmﬁ,i,

oo e e R T
e L forr 3eft % amuw o we . 813 90 F 3w A
(a) FE-TF (b) e .
) ™ (& TR ..

0 319 S T8 Tm W s e e d e
= = o §2 off ¥ 59F feu-fem & ded 27 O &,
| T L AE EL W R o o W T w O
Tt EEsAmIEEE R Ed = em

Ans : (b) THT S w5F A FE 399 T AW
f 92 % 766 WMo @7 W Ha W
77.  TIERYT Ve T AR ArAn ar?

() W e M (= R § o o A R, W R @
(b) 35% fim 39 T § T w9 4 et w3 #1 S A % s A e g s e
(c) 3% o o WA w9 5 T IW £ TR A e WP = e e W
CINGE - IR = ) W IR OB M W T afs
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R qF #9 F fmowd v oW R = o=
et o F wogm sow fomn o = afew
A AW F ¥ O Feand 5 98 5.
241 TE FEl 2| 98 S Al A9EN 3 °9W W 99 & 2
81. 3T U9 F T FET 3 I 20 TAy fher
&7 '
(a) =g

(c) =@

(b) TIFEM

(d) TEEM
e\ns:th}ﬂqﬁﬂﬁﬂﬁmﬂﬂmﬁmmmﬁ
WA B 2

| 87.

| Ans : (b) 79 W 99T #feE g9 = =W R =0E =
7 ot 7% & oy 0 41 v A onaw ¢ s @
o sfverfymen @m &) o6 == ofm & ot 2F oy
T AR e an A Ay T A
T B A )

WA SIME T Ar S T
T £ Taifea sivn o v o 17

(a) B9 FF AW F IH0 G EF d =8 A W
(b) T A aw g @ A, avh f ot A E
(c) T T [N T §, 55 T A O

82 W W WIgEWT £ FEIE WA A ) TR TR I R Tm T §
(a) =0 @i Ans : (d) TEifEA 3w # IE £ 5 T A0 9 5= W
{b) e foawn # # 9 = # Tm 5 B
(c) S |88, ‘TUR & F wd 87
(d) fa=m wa fomrm 2 {a) T H (b) TEE T
[nns:mawmqqméaéﬁ%mﬁﬁmﬁmén— () TR T @) T=H
$3.  EW U ARV W g wEd £7 'am:{mwmwaﬁ-qimﬁémé.mﬁ
fa) FARTR (b)) A TR T ¥ 5 W T TR § 36 5 A
(c) FRFTFE ()T AT AT | 89, HO-Teh = GATgar=i a9
|Ans : (¢) &% T G = A A I Fes T T £ | (a) == (b) =
84. WY ¥ w= WIS 87 (c) F=m (d) =3
(@) T ) TE Ans : (a) EVH® 31 GGl v SEO @ el S
(c) A (d) g Pre 7 37 Free W W

Ans : (c) 79 58 78 I = w4 g, ER
<qur & 21

.

$5. W TRVl S W= fawy w4 87
(a) TgHiH (b) =EqH
(c) T (d) TG

Ans : (c) 37 TN T 0 g AR 3@ R il e
w7 s T, 9 9 o g e = = v i)

90. ‘HEEW T UW U S HEval & 5 6y 87
{a) ¥ T =EA 0
(b) =EgE =
(c) T F F=H T4
(d) TEA F= =W T
Ans : (d) TR 9K W Ao e W I @ 9
w2 3 3w, 96 T s e a9 )

shrmd mEnd g FRmai s a
IaE T FE AR, I G U4 & 56 T & 5|

e o &

86. =W O TEW HiE O =1 EW § F9iE g
(a) BH T 39ER A &
{b) % i WE T o= = #
{c) Eﬁi‘lﬁﬁﬂiﬁ%

91. fiw ™ = off & forg ==-m1 vr= ST
L1
= Taewe § I o= Wi
(a) FeEmE =
(b) F o @
(c) = ZEiA & T
(d) ¥ ZFEEA & T

(d) o = T ¢ |Ans : (b) ¥ fmwiz § = T T A 9 @ T I
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4|

&7

7 TR 3 T §—————— TE T L
(a) T® by 3
{c) 4t () W

Ans : (b) TN F% T4 € T TR T £ TEA WS |
4 % (o wga= vl #1949 a1

o : wo= 6. 93 & o5 °, Freferign @t & ||

form st & qf 17

93, FEWT 9914 wA/ATE HEA/AE 7 T8
{a) F=Wg T (b) T FAm
(c) Fwwm = d) = 8

e\ns:(cjmﬂh:’* FrTy AEER mwﬁnﬁ
W oA HCaER s W IR & i
‘HfET R W WA qgEe w4 & fau de @
A IE T AM-HEEH HEA | FEET fAw (o)
T IW R
94. HUT FASLAW GF of/wE of s W

T AT

{a) 3F FH

(b) T FA A

(c) 3= af &

) T i FUH
Ans : (d) TH B FO T4 F =AW T B FA|
e i FifE I R e S e R |
54 Al ¢ S GG A S W CHN ||

g &

95, T W1 STl W/ T O1/9% AT/
T™E
(a) AT AT F (b)) FH AT A
(c) TE A (d) TmE

Ans : (2) FF N A W AT W AR 9N IR &
T R WO aE s S5 = wm A S
T I
96. Tateilisd 2 d SI9-91 AetwE 57
FgA-TgA HUrw-TleTel, TA-Tia 9 5
T=A-TEa 14 TRl 92, 7% aue SieeEl
(a) F95 (b) T5=%
(c) o (d) =9
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fres w2 gfd & forg F-mr v 3oy ||

Ans : (a) TT7-3%7 Fofs-=feE, 59509 92 TE)
TZA-929 g1 R 92, =% auw $feew

'muﬁﬁqwméttﬁ'mtwﬁw
|z (s ® 9E W W B oam @ =

SEFR A 21 T TS STe-ITE 9w R (9)

|7 5=z = &) 15 ofm § oo TvEm, Sfw ITE,
T I, FE IWA W 9 TR aWm o #

TN R s s i AR N F w0 G
mﬁmw%m:aﬁwmm’ i

97, farm-fagt @1 e @ @=-T e e &7
(a) T U 99 fHeen 32 89 F 5=
(by T o= o foeen 22, oW W wE
(c) w4 us wE faen 32, w0 of 39
(d) TH wE o fem =, W F 90

Ans : (b) =f o T faem =, ‘@ @ w9 FEm
frl 3t 2 & 9 99 & FHiE | e |
ot am =1 =1 = = femvn g ® A 39 2t 3
foe & form § T = 39 8 9= @ W () W
mﬁﬁ%lmﬁmﬁmﬁ%aﬁqﬁugﬁvﬁl
98. . Freafefia v &1 oom-fame T9E)

nmlr

{a) ﬁééﬂﬁaﬂg

(b) =55 F Iz

{c) =igd = HE

(d) ST SR FE

Ans : (b) "929% W AT-fEE 912 A 9T @9 2 T
7S T #) s 7 e owmfam # g g
i@

99, ‘I’ veE T fagreer ==y wom?
{a) =R (b) I
{c) #F=H (dy =

[Ans : (a) 3758 Pz W fAET TORR BT 81 WARE

o= W TR S AE U9 9EaEE oW 7 o9

| foreT =1 ‘oo TR O S o A R

100, FreEEIT § WA-T I FAR TEer SMOM?

(a) @
{c) HAFR

(b} M
() =

Ans : (¢) T=F 0 22 W 7= F F9 3T 999,
st fedirm, s i o st =94 B
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